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A body of weight 2+/3 kg.wt is ‘ N .
placed on a rough horizontal Lo—ope pnxs FIVY 4y —

plane If the body is about to | °24=le ol (i 28l (Soiun -l
move under the action of a |4 _axd e sy ¥ layladai a0l

horizontal force of magnitude 2 | ,y5, 5 )iz ol bian, =l el 39 Le
kg.wt, then the magnitude of the °
’ = Juant!| Jaall

resultant reaction = .....kg.wt




Two parallel forces acting on a
rigid body, the magnitude of the
bigger force is 8 kg.wt and acting
at point A, while the smaller one
acting at point B, if the magnitude
of their resultant is 12 kg.wt and
acting at point C € AB such that
BC=6cm

Then the length of AB =
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ABCD is a fine lamina in the form
of square of side length 30 cm, its
two diagonals intersecting at point
M, the triangle MCD is separated
and fixed above the triangle MBA.
Find the centre of gravity of the
lamina in this case.
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In the given figure

AE is a light beam, the beam is
acted on by a system of forces as
shown in the figure. Prove that the
system equivalent to a couple and
find the norm of its moment
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The opposite figure shows a system of
forces act at the points A, B, C, and D
respectively which lie on a horizontal
straight line. If the system equivalent
to a couple of algebraic measure = 36
newton.cm, then F;+F,=...newton
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If the force F = 31 — 4j acts at
the point A(0, 2), and if C(2, 3),
E(5, -1), then the line of action

of F
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In the opposite figure U ogd: Joldtl Js=idl b
A force F of magnitude 20 newton —
acts at A0, Answer only one question 9P 2353 590 Yo ayluia

of the following A oyl del e ol
1. find the algebraic measure of the

moment of F about B S9all prat g raell (uledll dazol ()
2. find the algebraic measure of the o il Jgo U

moment of F about C —
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ABC is a uniform wire of length
25¢cm, m(ABC) = 90°,AB =
15¢m, BC = 10cm find the
Centre of gravity of the wire with
respect to AB ,CB
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A body of weight 10v/3 gm.wt is
placed on a rough inclined plane, if
the body is about to move under its
weight when the inclination angle
of the plane to the horizontal is 30°,
If the inclination angle of the plane
increased to 60 and a force of
magnitude F acts on the body in the
direction parallel to the line of
greatest slope, then the body in
equilibrium state, prove that

10 < F < 20 gm.wt
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In the opposite figure: if the
body of weight 40gm.wt is
about to move on a
horizontal rough plane, then
the measure of the angle of
friction =
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In the given figure i e Ay mn Lae Julill Jem 2l 2 | ¢
A sphere of weight 1kg.wt and 1 e
radius 5 cm is fixed at the end A | ¢ p=52-0 5 439 9pwh-dslo o | plaii

of a uniform rod AB of length xS . &) ()9 dekatin dyugus 0y
80cm and weight%kg.wt -l aplad it Jolo ylall wie aii
Find the distance between the = 9l 0 e Laall J&5 55,0 Olo

centre of gravity of the system
and the end B




rod rests
smooth

AB is a uniform
horizontally on two
supports C, D such that
CD = 4 meter, we find that when
AC = 1 meter, the pressure on the
support C = 160 kg.wt, and if

AC = % meter, the pressure on the

support C = 250 kg.wt find the
weight of the rod
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If masses m; =1 acts at the point
(2, 3), m, =4 acts at the point

(-2, 1) and mz =5 acts at the point
(0, 1), then the centre of gravity of
the system is
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In the opposite figure oGt Jem sl b
R5n §9B )

Four equilibrium forces, then
0 e ...O




ABC is aright angled triangle at B
in which AB = 20cm, m(C) = 30°
D € AB,E € AC such that AD =
AE =10cm, forces of magnitudes
Fi, Fo, Fs, 5 kg.wt act along
ﬁ, B_C), C_A), DE respectively. If
the system equivalent to a couple
of algebraic measure 1253
kg.wt.cm in the direction of ABC
Answer only one question of the
following

1. Find F,
2. Find F,
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AB is a uniform rod of length
20cm and weight 30 newton rests
with its end A on a horizontal
rough ground with coefficient of

friction % and with its end B on a

smooth vertical wall, if the rod
inclines to the vertical with angle
of measure 6. A horizontal force
of magnitude F acts on the rod at
point C on it such that AC = 5cm
so that the rod is about to move
towards the wall. Prove that

F =201+ tan®)
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In the opposite figure
The force of magnitude 20vV3 | 3¢ c5ew YV Y- 59al Julatl Jem s La
newton acts at the point C, then )
its moment about the point A Jo> YV Y-85l pre Ol s Razill b
equals ...newton.cm
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In the opposite figure Jolatl J==2d1 b

AB is a uniform rod rests with its L .
upper end on a smooth vertical e Golall adylay 50 alatin ol o

wall and \_/vith its lower end on a 02y ke il diylasg pudal ol y Ladl
rough horizontal ground ’ ’
If the rod is about to move and | &9 le conadll Ol 13l ils Gl
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